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(1} Simplify 12 (mod 5)
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(2) Simplify 37 (mod 15)
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(3) Simplify 1217{mod 9)
ljz 3%%@\(% § {?V ;
(4) Simplify 49 (mod 3)
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(5) If 123 (mod 7) = 8, what is 12° (mod 7)?
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(6) If 15”‘ (mod 6) = 3, what is 15° (mod 6)7

% e lg’ 5 b ) Ig%h%u: ih"‘@é %ﬁ‘\}
= 5 % {W&f}i g b
$
(7) If 9% (mod 4) = 1, what 13(5913 (mod 4)7
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(8) Tf 18° (mod 15) =9, What is 18% 15)7
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(9) Find the additive inverse for 19 (mod 26). i,
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(10) Find the additive inverse for 37 (mod 26).
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(11) Find the additive inverse for 49 (mod 21).
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(12) Simplify -13(mod 25) _ %
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(13) Simplify -127 (mod 15) R
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(14) Simoh'ﬂy -147 {mod 21}
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(15) A Ceasar Cipher is a special case of the Shift Cipher. What is A for a Ceasar Cipher?
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(16) Using a Shift Cipher with A =7, enclypt the word TUGBOAT.
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(17) Using a Shﬁ t Cipher with V = 17, decrypt the word JRAYUJ\R”\T
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(18) Use a Skift Ciplker with the Enghsh Alphabet.
(a) if A= 18, ﬁndv
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b)if V=23, find A ;
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(18) A Vigenére Cipher is being used with the following shifte:
Ay =20 =12, A3 =21, A4 =5
What Keyword is being used for this Vigenérs Cipher?
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(20) A 1genere Cipher is bemOr used with the following shifts:
Az =160 =21 Ay =18 Ay =16 As =12 Ag=5
What Keyword is being used for this Vigenére Cipher?
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(21} Use the Keyword BOOK to encrypt the word LIBRARY using a Vigenére Cipher.
™o o K L bR OR AR Y

HNe 2 w1 4 T i 9 2 1% 2 s o
L £ oy i ’2_ ) NX&CQ é‘}‘@
™= 2% 1 %3 3 337 L&o &
I gﬁ & & o
(22} Use the Keyword CATS to ecrypt the wor PIMEBFE usmcr ) Vlgenele Cipher.
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